
ANSWERS – VOLUME2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 4, Members Subject to Bending and Extension problem 4.105, page 268 
 

Last update: 25-10-07 

Remarks: See §4.6, pages. 184 till 186 
See §4.10.2, pages. 215 till 219 
 

Answer:  
 

A 0σ =  

 
 
 
 
Explanation:  
 
There is bending in the tapered column shown in the left figure. 
For the cross-section at the place of A, the ground section, the normal 
center is in the middle (At the intersection point of the symmetric axes) 
 
Cross-sectional properties: 

3120 10  mmA = × 6 312 10  mmW = ×

240 kNN

2  And  
 
Normal force and moment at the section: 

= −  
0,600 m( 240 kN) (0,200 m) 24 kNm

2
M Ne ⎧ ⎫= = − − =⎨ ⎬

⎩ ⎭
 (    ) 

M causes tension on the left (in A) and compression on the right 
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